1. What issues did Truman face during the period of reconversion?

A: Reconversion- social and economic transition from wartime to peacetime: economy wanted new goods right away/ wages did not keep up with prices, railroad strike, fair deal program with not popular with the legislators
2. What was the Taft-Hartley Act?

A: law allowed president to declare a cooling off period to settle disputes from strikes
3. What was Modern Republicanism? Why did Eisenhower embrace it?

A: 
4. Why was the National Aeronautics and Space Administration (NASA) created?

A: Soviet Union Sputnik & race to space and afraid of nuclear attack
5. What was the National Defense Education Act?
A: improve science and math in schools, loans/ grants to people who wanted to be math or science teachers. 
